-

Dosya Adi / Document Name

Yedek Parca Listesi / List of Spare Part Revizyon No-Tarihi / Rev. No-Date

KAT KAPILARI / Landing door

01/ 10.06.2020

ASANSOR KAT & KABIN KAPILARI / ELEVATOR LANDING & CAR DOORS

YEDEK PARCA LISTESI

List of Spare Part
[ CRP 03 & CRP 04 ]

= =1
= =
= =

Merkez Ofis (Head Office)

u cuass ivedik OSB, Hasemek Sanayi Sitesi, 1465.Sokak, No:17, Ostim/ANKARA/TURKIYE
Fabrika (Factory)
e ————— Ayas Yolu, 26.km, Yenikent/Sincan/ANKARA/TR

Tel: (+90) 312 299 33 14, Faks: (312) 394 33 01
E-Posta: crippaclass@gmail.com www.caginasansor.com.tr

CAGIN




Dosya Adi / Document Name

Yedek Parca Listesi / List of Spare Part

Revizyon No-Tarihi / Rev. No-Date

KAT KAPILARI / Landing door

01/ 10.06.2020

1 Acil agma kilidi (SOL) Cr-001
Lock release

2 Acil acma kilidi (SAG) Cr-002
Lock release

3 Acil agma kilidi cekme yay! Cr-003
Lock release return spring

4 Acil agma kilidi cekme yayl Cr-004
Lock release return spring
Acil acma kilidi

> Lock release key Cr-005

6 Cr-006

CrPPa |

frrrr———
omarna y gt [EmSI———

CAGIN




Dosya Adi / Document Name

Yedek Parca Listesi / List of Spare Part Revizyon No-Tarihi / Rev. No-Date

KAT KAPILARI / Landing door

01/ 10.06.2020

7 Kat kapisi kilitleme tertibati (SOL) Cr-007
Landing door locking device (left)
8 Kat kapisi kilitleme tertibat1 (SAG) Cr-008
Landing door locking device (right)
9 Kontak kopriisii
Bridge for contact Cr-009
10 Egzantrik agma makarasi Cr-010
Eccentiric landing door lock roller
Kilit acma makarasi
11 Landing door lock roller Cr-011

Cr PP3

UL AUTORATIE BLIGATOR ROCRS
Lm—— 4

CAGIN




Yedek Parca Listesi / List of Spare Part Revizyon No-Tarihi / Rev. No-Date

Dosya Adi / Document Name
KABIN KAPILARI / Car doors 01 / 10.06.2020

12 Tasiyic Cr-012
Carriage
13 Egzantrik kap1 alt makarasi Cr-013
Eccentric door bottom roller
14 Tastyic tist makarasi Cr-014
Lower kicking roller with eccentric
Lower kicking roller with eccentric
Stoper lastik tamponu
1 -
6 — Adjustable carriage rubber buffer Cr-016
17 .I.ﬁ Stoper lastik tampon ayar takozu Cr-017
’ Adjustable carriage rubber buffer lock
Kasik makarasi (diiz)
L Q) roller Cr-018
Kasik tekeri (diiz)
19 / -
...... roller Cr-019
20 Kayrs Cr-020
Belt




Yedek Parca Listesi / List of Spare Part

Revizyon No-Tarihi / Rev. No-Date

Dosya Ad1 / Document Name

KABIN KAPILARI / Car doors

01 / 10.06.2020

21 Tahrik Motoru (SOL) Cr-021
Driver Motor
22 Tahrik Motoru (SAG) Cr-022
Driver Motor
23 Sebeke Transformatorii Cr-023
Power Transformer
Kayis Makarasi
24 Belt Pulley Cr-024
25 Kayis makaras1 destek pulu
@ Belt pulley support washer Cr-025
ro% Avare disli destek mili
26 < 5 vare disli destek mili )
Idie gear support shaft Cr-026
27 <X Kayig makarasi gerdirme Cr-027
‘ﬂ Belt pulley tension

rrpe—r——————

CAGIN




Yedek Parca Listesi / List of Spare Part Revizyon No-Tarihi / Rev. No-Date

Dosya Adi / Document Name
KABIN KAPILARI / Car doors 01/ 10.06.2020

D1s kap1 agma kapama skate
Complete retractable skale without Cr-028
arms and belt fixing blocks

28

D1s kap1 agma kapama skate
Complete retractable skale without Cr-029
arms and belt fixing blocks

29

D1s kap1 agma kapama skate (sol)
Complete retractable skate without arms Cr-030
and belt fixing blocks (left)

30

D1s kap1 agma kapama skate (sag)
Complete retractable skate without arms Cr-031
and belt fixing blocks (right)

31

D1s kap1 acma kapama skate kizak kolu
Complete set of skate arms with spring

32 Cr-032

Di1s kap1 agma kapama skate dili

33 Retractable skate lock lever return Cr-033

Kilit dili yuvasi (sag)
Retractable skate lock release

34 Cr-034

EFiZE) ———————— CAGIN




Yedek Parca Listesi / List of Spare Part Revizyon No-Tarihi / Rev. No-Date

Dosya Adi1 / Document Name

KABIN KAPILARI / Car doors 01 / 10.06.2020

Kilit dili yuvas1 (sol)
35 -
Retractable skate lock release Cr-035
Egzantrik agma makaras1 metali
36 Eccentric landing door lock roller Cr-036
Kilit agma makarasi
37 Landing door lock roller Cr-037
Kilit stoper lastigi
38 Rubber lock stop Cr-038
Kilit plakasi alt destek saci
39 Security plate for landing door locking Cr-039
device
Segman (R12)
40 Retaining ring for shaft (R12) Cr-040
Segman (R10)
4 Retaining ring for shaft (R10) Cr-041

EFiZZ) —————————— CAGN




Dosya Adi / Document Name

Yedek Parca Listesi / List of Spare Part

Revizyon No-Tarihi / Rev. No-Date

KABIN KAPILARI / Car doors

01/ 10.06.2020

“  Complete landing plate | €042
43 Cr-043
44 E:Zic:ir?cfl)r(‘:t::tact Cr-044
45 E;i\ld(?r?gl lc(lfor:irl‘::nens. Cr-045
46 Landing door Klemens, — © Cr-046
¥ Security plate for locking (Contal 0p.)| 0%
& Secrity plate for locking (side 0p) | 0%

CrPP3

UL AUTOMATIC RLSVATOR DOORS.

CAGIN




Dosya Ad1 / Document Name

Yedek Parca Listesi / List of Spare Part

Revizyon No-Tarihi / Rev. No-Date

KABIN KAPILARI / Car doors

01 / 10.06.2020

700'liik kap1| 215 mm
800'liik kap1| 245 mm
900'lik kapt| 275 mm
49 Kap kapama y,ayl 1000'lik kapi| 305 mm Cr-049
Door Close Spnng 1100°liik kap1| 335 mm
1200'liik kap1| 365 mm
1300'liik kapi| 395 mm
N \“ o o
N Yay baglanti tirnag
50 8 ‘ Spring mounting Cr-030
51 Yay baglanti profili Cr-051
Spring adjusting profile
Halat makarasi
52 Cr-052
Rope roller
700'liik kap1| 1180 mm
800'liik kap1| 1290 mm
900'liikk kapi| 1400 mm
53 C D) Halat 1000'lik kapi| 1510 mm Cr-053
Rope 1100°liik kapi| 1620 mm
1200'liik kapi| 1730 mm
1300'liik kapi| 1840 mm
F:q
54 | (00080000 Kayis baglantisi Cr-054
Belt connection
55 Kabin Kapisi Erkek fig Cr-055
Male switch (car)

FULL ASTOMATIC RLINRTOR OORS.

CAGIN




Dosya Adi1 / Document Name

Yedek Parca Listesi / List of Spare Part Revizyon No-Tarihi / Rev. No-Date

KABIN KAPILARI / Car doors

01/ 10.06.2020

56 ./ Disi Fis-kontak Sabitleme Cr-056
“V Switch fixing
Q@
57 e © Erkek Fis-kontak Sabitleme Cr-057
Switch fixing
Fotosel baglanti saci
Cr-058
>8 Light curtain fixing sheet r
59 Kabin kapisi kayis sabitleme govdesi Cr-059
Car door belt fixing sheet
60 @D HL’D Tasiyic1 ray Cr-060
Carrier rail
61 e Aliiminyum alt esik Cr-061
Aluminium bottom threshold
62 Ray mesafe profili Cr-062
Rail distance profile

CAGIN




Yedek Parca Listesi / List of Spare Part Revizyon No-Tarihi / Rev. No-Date

Dosya Adi / Document Name

KABIN KAPILARI / Car doors 01 /7 10.06.2020

Gerilim halat silindir destegi Cr-063

Tension rope roller support
~

Kilavuz halat silindir destegi
uide rope roller support Cr-064

63

64

Halat tutucu kol komple Cr-065
T2 Complete rope anchor

65

Halat makarasi

66 Rope roller Cr-066
67 Cr-067
68 Cr-068
69 Cr-069

izl ———— — CAGN

Pa Ao MR DO
[——— e CE

10




Yedek Parca Listesi / List of Spare Part Revizyon No-Tarihi / Rev. No-Date
Dosya Adi / Document Name

Kat & kabin kapilar1 / Landing & car doors 01/ 10.06.2020

70

30—

' 72 :
Aliiminyum alt yol
m Aluminium bottom track Cr-070
F—S

71 I m Aliminyum alt yol (kabin kap1) Cr-071

T Aluminium bottom track
72 Alijminyum alt yol (merkezi) Cr-072
Aluminium bottom track (central)
:1_IE|-:1_D- Aliiminyum alt yol
73 Aluminium bottom track Cr-073

117,6

\ |
74| & ﬁ “ﬂq” “ﬂqu T Aliiminyum alt yol (3P) Cr-074
L [ [} Aluminium bottom track

75 M8*20 imbus civata DIN912 Cr-075
M8*20 imbus bolt DIN 912

76 \ Panel alt kizak
% | Panel down skate

Kap1 paten plastigi
77 @ Door sket plastic Cr-077

- CAGN

RILLAUTOATE ST BOORS
L— RN

N\

Cr-076

11




Dosya Adi / Document Name

Yedek Parc¢a Listesi / List of Spare Part

Revizyon No-Tarihi / Rev. No-Date

Kat & kabin kapilar / Landing & car doors

01/ 10.06.2020

@F __ M6*18 Pullu civata DIN 933 / M8 Pullu Somun
78 @\}\.J M6*18 Bolt with washer / M8 Nut with washer| Cr-078
@ M6*25 Civata DIN 933
Bolt DIN 933
79 s -
@Q M6 Somun DIN 934 Cr-079
‘ M6 Nut DIN 934
80 M6*18 Pullu civata DIN 933 Cr-080
M6*18 bolt with washer DIN 933
@ M6*40 civata DIN 931
81 Cr-081
M6*60 civata DIN 931
@E M6*18 pullu civata DIN 933
82 Cr-082
@ M8*20 pullu civata DIN 933
M6*18 pullu civata DIN 933
83 (‘ Cr-083
@’ M8 fiberli somun DIN 985
84 % M8%*20 pullu civata DIN 933 Cr-084
M8*20 bolt with washer DIN 933
M5*10
85 . Cr-085
Imbus civata

e —

12

CAGIN




Dosya Ad1 / Document Name

Yedek Parca Listesi / List of Spare Part

01 / 10.06.2020

Kat & kabin kapilar1 / Landing & car doors

Kasa Baglant1 Kenedi

Side fixing bracket Cr-0Xxx

L duvar konsolu / kenedi

L bracket (wall) Cr-0XX

Kabin kapis1t mekanizma kenedi

Car door mechanism bracket Cr-0XX

Baslik ve alt yol baglanti kenedi (duvar)

Top&bottom fixing bracket (wall) Cr-0XX
/ Baslhk ve alt yol baglant1 kenedi (kap1)

Top&bottom fixing bracket (door) Cr-0XX
\
|

CAGIN

13

Revizyon No-Tarihi / Rev. No-Date




	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model


